
Deluxe Industrial Pedestal Fan
Models: 652299 652299Y

CONTENTS
Ref. Qty. Description

1 1 Post
2 1 Base Plate
3 1 Fan Motor
4 1 Back Shroud
5 1 Fan Blade
6 1 Cover Shroud

H1 1 M6 x 1.0 Adjustment Knob

H2 9 M6 x 1.0 x 18mm
Lg. Hex Bolt

H3 9 Split Washer

H4 5 M6 x 1.0mm Hex Nut

H5 1 Bushing

H6 1 Plain Washer

H7 1 M10 x 1.5 x50mm
Lg. Hex Bolt

H8 1 4mm Allen Key

CAUTION
Make sure all nuts and bolts are fully 

tightened before assembling fan motor .

1 2

1

3

3

2

H 1

H 5
H 6

H 7

H 3

H 4

H 2

g lo b a lin d u s tria l.c a
Distribucion Industrial Globales S DE RL DE CF

Assembly Instructions Instrucciones de Ensamblaje Directives d ’assemblage

Customer Service
US: 1-800-645-2986

Servicio de atención al Cliente
México: 01.800.681.6940

Service à la clientèle
Canada: 888-645-2986

1 100815

Non  Oscillating Pedestal Fan
Models: 292650  292652 292654

1

1

H 1

H 3
H 2

7

8

H4

H3

H5

CONTENTS
Ref. Qty. Description

1 1 Post
2 1 Base Plate
3 1 Fan Motor
4 1 Back Shroud
5 1 Fan Blade
6 1 Cover Shroud

H1 2 M8 Adjustment Knob

H2 9

H3 11 Split Washer

H4 1

M10 Hex NutH5 1

H6 1

H7 5

H8 1

7 1 Spring

8 1 Weight

1/4"-20*12mm
Lg. Hex Bolt

M10*40mm
Lg. Hex Bolt

M12*30mm
Lg. Hex Bolt

M6*45mm
Lg. Hex Bolt

H9

H10 10#-32 UNF  Hex Nut

1

1

H11 1 5/16"-18*13mm
Lg. Hex Bolt

3
H1

H6

H7H3
H8

H9

Plain Washer

M12 Hex Nut

2



Assembly Instructions

2

Non  Oscillating  Pedestal  Fan

5

H11

4

4 H3 H7H10



Assembly Instructions

3

Non  Oscillating  Pedestal Fan

56



Assembly Instructions

4

Non  Oscillating  Pedestal Fan

Height adjustment knob

Angle adjustment bolt

Speed selector




